C:h Subtraction Using Open Number Lines Name:
Solve each problem. Answers

1) 46,385- 23,951 =

« e ° ° ° ° o » »

2) 94,001 - 56,485 =

< ® @ L ® L *—>

3) 89,765 - 85,809 =

< ® ® ® ® ® >

4) 65,957 - 52,888 =

< ® @ L ® L *—>»

5 78,081- 49,742 =

< ® @ L ® L *—)>

6) 92138 - 75,258 =

< ® @ L ® L *—>»

7) 96,962 - 93,390 =

< ® @ ® @ ® >
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Subtraction Using Open Number Lines Name:. Answer Key
Solve each problem. Answers
1) } =
46,385 - 23,951 . 22434
22434 22435 22485 23385 26,385 46,385
< > , 37516
-1 -50 -900 -3,000  -20,000
3 3,956
2) 94,001 - 56,485 =
4 13,069
37516 37521 37,601 38,001 44,001 94,001
< > s 28339
5 -80 -400 -6,000 -50,000
6. 16,880
3) 89,765 - 85,809 =
3,956 3,965 4,765 9,765 89,765 . 3912
< >
-9 -800 -5,000 -80,000
4) 65,957 - 52,888 =
13,069 13077 13,157 13957 15957 65,957
< g
-8 -80 -800 -2,000  -50,000
5 78,081- 49,742 =
28339 28341 28381 29,081 38,081 78081
< >
-2 -40 -700 -9.000  -40,000
6) 92138 - 75,258 =
16,880 16888 16,938 17,138 22,138 92,138
< g
-8 -50 -200 -5,000 -70,000
7) 96,962 - 93,390 =
3,572 3,662 3,962 6,962 96,962
< >
-90 -300 -3,000 -90,000
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C:h Subtraction Using Open Number Lines Name:

Solve each problem. Answers
3,956 28,339 22,434 16,880
37,516 13,069 3,572 1.
1) 46,385- 23,951 = »
< ® ® ® ® ® *—>» 3.

2) 94,001 - 56,485 =

<4 @ @ @ @ @ @ > 6
3) 89765 - 85,809 = &
< @ @ @ @ @ | g

4) 65,957 - 52,888 =

< ® @ L ® L *—>

) 78081 - 49,742 =

< ® @ L ® L *—>»

6) 92,138- 75,258 =

< ® @ L ® L *—>

7) 96,962 - 93,390 =

< ® @ ® @ ® >
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